	Title 
	Grade / mark 

	“The political establishment in Germany succeeded in maintaining the political status quo through a policy of moderate reform”

How far do you agree with this judgement?

	

	Use sources V W X 

“The outbreak of war in Europe in 1914 was due to aggressive foreign policy which had been waged since c .1900”

How far do you agree with this opinion?

	

	How far do you agree with the view that Germany’s miscalculations explain the outbreak of war in 1914? 

Explain your answer using sources 1-3 and your own knowledge of issues related to this controversy

	

	“The main threat to the stability of the Weimar Republic in the period 1919 to 1923 came from the political violence of the extreme right”

How far do you agree with this judgement?

	

	“Germany experienced a period of political calm , economic development and social progress in the mid 1920’s”
How far do you agree with this judgment?

Or

“It had fundamental weaknesses and these meant that it remained a fragile institution throughout the period 1919-32” 

How far do you agree with this opinion of the Weimar Republic?


	

	“Nazi consolidation of power in 1933 was primarily due to the use of terror and violence”
How far do you agree with this judgement?


	

	“The Nazi regime enjoyed a broad consent brought about by popular policies”
How far do you agree with this opinion? Explain your answer using the evidence of sources Y Z and AA and your knowledge of the issues relating to the controversy.


	

	How far do you agree with the view that in the years 1934-39 Hitler was not in control of the Third Reich? Explain your answer using Sources 1-3 and your own knowledge of the issues related to this controversy 

	

	“The government of the Nazi state was chaotic and lacked coherence in the years 1933 to 1939”

How far do you agree with this opinion? Explain your answer using the evidence of sources V W and X and your knowledge of the issues relating to the controversy.

Or

How far do you agree with the view that the Nazi regime was strong and successful in the period 1935-39?  Explain your answer using Sources 1-3 and your own knowledge of the issues related to this controversy 


	

	“Systematic extermination emerged as the Final Solution to the Jewish Question as a result of the chaotic nature of the Nazi state”

How far do you agree with this opinion?

Or

“The handling of the economy was poorly co-ordinated and this accounts for the weaknesses in German war production in the years 1939-45” How far do you agree with this view?
	


